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seRIES 1 2 EXaMs

233/3 = CHEMISTRY PAPER 3 - MARKING SCHEME

1.
Experiment No. () (i) (iii)
Final burette reading (cm?) 19.50 38.90 19.40
Initial burette reading (cm?) 0.00 19.50 0.00
Volume of R used 19.50 19.40 19.40
Average = 19.50 + 19.40 + 19.40
3
= 19.43cm3
Table
e Complete — 1mk
e Use decimal point — 1mk
Accuracy
e +0.1(1mk)
e +0.2(%)
e Beyond + 0.2 (Omk)
Principles of average (1mk)
(average consistent value only)
Final accuracy (1mk)
e + 0.1 of average litre (1mk)
e + 0.2 of average litre ( %2 mk)
e Beyond + 0.1 of average litre (Omk)
Calculations
(b) () Molesof R = 0.07 x average litre
1000
= Correct answer
(i) 2HClag) + Ca(OH)2(aq) CaCl2@qg + H20(aq)
Moles of Ca(OH)2 = Y x ans (i) above
= correct answer
(iii)) 25ecm3 .............. ans(ii) above.
Therefore 90cm3 = 90 x ans above (ii)
25cm
= correct ans
(iv) Mass of Ca(OH)2 = ans (iii) x 74
Correct ans.
() Ans (iv) .....cenennen. 90cm?
Therefore 100 .......... 100 x ans (iv)
90cm
= correct answer
2. (@)
Temperature before mixing 70 60 50 45
Temperature at which colour disappeared 54 50 a7 43

|V Y]
Teacher.co.ke



https://teacher.co.ke/notes/
https://teacher.co.ke/notes/

S R e
R Hi
oM ™M HHH jediEaatan E3Eudta SammashE
Qoo HERHEE I 5
— [00] (9p] 5 T by 4z g X
2R SR =
3|3 i e 5
[“ %
(<o) NN e)] THHH T
oW o H
—| N | N ot T4
Q@ H .
g3
o ;
AN | 00| ©
N~ | 0O | O
® | ®
nv. —
o if i Ee e et
Hh - BEES {EERSEUERI RuRan
O || LW - = 3
Ol | - g CEE . iEsm : H
S|~} : 2 bissitiaast il : EERE
o 5880, H : b } 3 H 35 inugs
= : H .
x ExijiiE i
%rlvl T
ks e :
o : o O xx
% 1t s : HHE m m m m
o i <SS A
Q 1§ s8sss
4] zan
R
S : T i
— HE : g8 | I |
W £ IEERE 1 S O
S e o8
(&] o &
= _“ _ = 8
2 T 22>
- T T TR HHE 8 :u: 5 b I m o
= E| : 2 EST
© - Eoo§
Q nl i (@] [&
2% e [ O0<F
= o
F|l=<|d

sajou/ay 0d°1aydea}/ /:sdiy woy s[eriayrewt gy 19Yy10 pue Sy} peojumo(



(b)

w
(<]
s}
@]
(=}
S~
Q
<
o
(&)
—
Q
=
Q
3]
3
~
S~
PR
Q.
=
<=
E (..
5 i)
&
A
o]
k=
[«]
s}
o]
g
[Sa]
[£a]
&
: (i)
=
)
o
o
=
(3]
2
=
=}
o
3]
2
(=}
2
o

i
Teacher.co.ke

(ii)

(iif)

(iv)

(i)

Observation

Inference

No white precipitate

Zn?*, Pb?*, AIR*
Ca?* present.
Accept Na*, K* present for 2 mk

Observation Inference

White precipitate S04%, CO3? or SO4*
Present
NB:

3 mentioned — 1mk
2 mentioned — ¥2 mk
1 mentioned Omk

Observation

Inference

White precipitate dissolves

SO3% or CO3%
S04% absent

Observation

Inference

Acidified Kz2CrOz change from
orange to green

SO3? present

Observation

Inference

Bromine water is decoluorised.
Accept
Brown solution turns colourless

- C=C-
[

- C=C-, C=C present penalize fully for

any contradiction e.g. ROH, RCOOH.

Accept

Unsaturated organic cpds

Observation Inference

Purple acidified KMnO4 is decoloursied I

Reject: -C=C- -C=C-
Colourless solution formed ROH present

Observation

Inference

Moist blue litmus paper turns red.
Red litmus paper remained red.

H+/HsO present

Present or acidic substance
Ignore:

RCOOH / Carboxylic acid






